INSTALLATION INSTRUCTIONS

MSB-6640
DISPLAY MOUNTING BRACKET

Prior to assembly, unpack carton completely and verify contents.
If you are missing any of the following components, please contact Customer Service at 1-800/582-6480

- L= o © 5 0 |
o o0 : = © o [ ] (3|
o A o 6 = oo
o0 = 2°
. | EE = e
[ =] =]
- ‘— [ =
Figure 1
(2) Interface Side Brackets (2) Interface Center Brackets
(4) Mounting Buttons — Tapped (8) 10-24 x .500 Button Head Cap Screws
(8) M5 x 25mm Phillips Head Cap Screws (8) .500 x .316 x .500 Nylon Spacers

(1) 1/8” Allen Key

BEFORE PROCEEDING, READ INSTALLATION INSTRUCTIONS COMPLETELY

CAUTION! DISPLAYS ARE EXTREMELY FRAGILE.

NOTE: If installing screen on a Chief J-series wall mount, proceed
to Step 3 (J-Series VESA Interface Installation).

1. Chief Q-latch Button Installation (Used with MSR, MTR, MWH, MWR, MCS and MCD mounts):
Using a 10-24 button head cap screw inserted from back side of bracket, secure mounting button, with
chamfered hole of mounting button (larger surface) facing bracket, to center brackets (four places) (see
Figure 2 & Figure3).

2. Proceed to Step 4 (Side Bracket Assembly).

-y ATTACH MOUNTING BUTTONS
1 A0 I K?/ /, f"//, 4 7o USING THESE HOLES
/ / / I([jtf(ﬂ; " - __ FAY - "
CENTER e //// / JACIUINTING ?
BRACKET ){/ /"’/. - 0 I o rprr“;N i,
/-/.I_,./'// yd /%/
Figure 2 Figure 3
CHIEF MANUFACTURING INC. 8840-000055 RevB
= ® 1-800-582-6480 952-894-6280 FAX 952-894-6918 2006 Chief Manufacturing
8401 EAGLE CREEK PKWY, STE. 700 www.chiefmfg.com

Ideas Supporting Ideas SAVAGE, MINNESOTA 55378 USA 02/06




3. J-Series VESA Interface Installation: Using the 10-24 button head cap screws along with the 10-24 Nylock
nuts (provided with J-Series mount), attach VESA interface from J-
Series mount to center brackets (see Figure 4 & Figure 5).

ATTACH VESA INTERFACE TO CENTER BRACKETS
USING THESE HOLES

|
) A7 WESA INTERFACE PLATE | /
= 0 Z77 (FROM J-SERIES MOUNT)— ||~/
N
=4

L3 . 0 . o
[ %7 /
A # 4
L7 1024 BUTION HEAD || / ° ° g % © b

CAPSCREW

Figure 4 Figure 5

4. Side Bracket Assembly: Attach center brackets to side brackets using the 10-24 button head cap screws (see
Figure 6 & Figure 7).

° ATTACH SIDE PLATES °
N USING THESE HOLES N
o . o , \ — N

4] g o T} (O] 5 ®
oD rd . 0o

< 4 =

o i ™, o
® o Vs \'-. o

(/. \'.
A } @ p 4 ~ . o
= P .

Ly ~. s ° e o0

- @ ° [G] (O] ° )
@ ] ©

o

k=] o

® o o

Figure 6 Figure 7

5. Bracket Installation: Place nylon spacers over mounting holes of screen and attach brackets to back of display
using the M5 screws (see Figure 8 & Figure 9). Do not over tighten screws.

—— ATTACH TO DISPLAY

o . USING THESE HOLES
U]

Q)"
- — 1YL
o Oy FA

L]
]
\ i 53 a o

=

Figure 8 Figure 9

6. Follow the Chief mount instruction manual for screen installation.



